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Rw;wsT:

xU %ba tbtj;jpd; vy;iyia ehk; xU Kiw Rw;wp tUk; NghJ fpilf;Fk; J}uNk 

mt;tbtj;jpd; Rw;wsT MFk;.

l

bb

l

a

aa

a a

bc

nrt;tfj;jpd; Rw;wsT 	 = 	 2 (ePsk;) + 2 (mfyk;)

		  = 	 2 (ePsk; + mfyk;)

		  = 	 2 (l + b) myFfs;

rJuj;jpd; gug;gsT	 = 	 4 × xU gf;fj;jpd; ePsk;

		  = 	 4 × gf;fk;

		  = 	 4a myFfs;

Kf;Nfhzj;jpd; Rw;wsT	 = 	 %d;W gf;f msTfspd; $Ljy;

		  = 	 (a + b + c) myFfs;

gug;gsT:

xU %ba tbtk; milf;Fk; ,lj;jpd; msT mjd; gug;gsthFk;.

l

bb

l

a

aa

a b

h

sB_ (MEASUREMENT)
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nrt;tfj;jpd; gug;gsT 		  = 	 ePsk; × mfyk;

			   = 	 l × b rJu myFfs;

rJuj;jpd; gug;gsT		  = 	 gf;fk; × gf;fk;

			   = 	 a × a rJu myFfs;

nrq;Nfhz Kf;Nfhzj;jpd; 

		        gug;gsT	 =	
1
2

× nrq;Nfhzj;ij cs;slf;fpa 

				          gf;fq;fspd; ngUf;fw;gyd;

			   =	
1
2

× (b ×  h) rJu myFfs;

1.	 ePsk; 15kP> mfyk; 10kP cila nrt;tf tbt epyj;jpd; gug;gsT> Rw;wsT 

fhz;f.

	 ePsk; = 15kP> mfyk; = 10kP

	 nrt;tfj;jpd; gug;gsT 	 = 	 ePsk; × mfyk;

			   = 	 15kP × 10 kP

			   = 	 150kP2 

nrt;tfj;jpd; Rw;wsT	 = 	 2 [ePsk; × mfyk;]
			   = 	 2 [15 + 10]
			   = 	 50kP

2.	 80kP ePsk; cila nrt;tf tbtj; Njhl;lj;jpd; gug;gsT 3200 r.kP Njhl;lj;jpd; 

mfyj;ijf; fhz;f. 3200r.kP. Njhl;lj;jpd; mfyj;ijf; fhz;f.

	 ePsk; = 80 kP> gug;gsT = 3200 r.kP

	 nrt;tfj;jpd; gug;gsT 	 = 	 ePsk; × mfyk;

		  mfyk;	 = 	 nrt; tfj; jpd; gug; gsT

esP k;

			   = 	
3200 40
80

= kP



�

A]\

3.	 40kP ePsKila rJutbt kidapd; gug;gsT> Rw;wsT fhz;f.

	 rJu tbt kidapd; gf;fk; 	= 	 40kP

	 rJuj;jpd; gug;gsT	 = 	 gf;fk; × gf;fk;

			   = 	 40 × 40

			   = 	 1600 r.kP

	 rJuj;jpd; Rw;wsT	 = 	 4 × gf;fk;

			   = 	 4 × 40 = 160kP

4.	 rJu tbtg; G+e;Njhl;lj;jpd; gf;fk; 50kP. G+e;Njhl;lj;ijr; Rw;wp kPl;lUf;F 

&.10tPjk; NtypNghl MFk; nryitf; fhz;f.

	 rJu tbtg; G+e;Njhl;lj;jpd; gf;fk; = 50kP 

NtypNghl MFk; nkhj;j nryitf; fhz Njhl;lj;jpd; Rw;wsitf; fz;L mij 

kPl;lUf;F MFk; nryTld; ngUf;fpdhy; NghJkhdJ.

	 rJu tbtg; G+e;Njhl;lj;jpd; Rw;wsT 	 = 	 4 × gf;fk;

		  = 	 4 × 50

		  = 	 200kP	

	 NtypNahl xU kPl;lUf;F MFk; nryT	 = 	 10

	 ∴ 200 kPl;lUf;F MFk; nryT	 = 	 10 × 200

		  = 	 2000

5.	 gf;fk; 60kP cila rJu tbtg; G+q;fhit rkd; nra;a rJu kPl;lUf;F &2 

tPjk; MFk; nryitf; fhz;f.

	 rJu tbtg; G+q;fhtpd; gf;fk; = 60kP

rkd; nra;a MFk; nryitf; fhz> gug;gsitf; fz;L mjid rJu kPl;lUf;F 

MFk; nryTld; ngUf;fpdhy; NghJkhdJ.

	 G+q;fhtpd; gug;gsT 	 = 	gf;fk; × gf;fk;

		  =	 60 × 60

		  = 	3600 r.kP

	 xU rJu kPl;lUf;F MFk; nryT 	 = 	2

	   3600 rJu kPl;lUf;F MFk; nryT 	 = 	2 × 3600

		  = 	7200
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6.	 xU tpisahl;Lj;jply; nrq;Nfhz Kf;Nfhzk; tbtpy; cs;sJ. 

nrq;Nfhzj;ijj; jhq;Fk; gf;fq;fs; 50kP> 80kP. jplypy; rpnkz;l; G+r rJu 

kPl;lUf;F &5 tPjk; MFk; nkhj;j nryitf; fhz;f.

	 nrq;Nfhz Kf;Nfhz tpisahl;Lj;jplypd; gug;gsT 	 = 	
1
2

b h× ×

				    =	
1 (50 80)
2

× 	

				    = 	 2000 r.kP

		  xU rJu kPl;lUf;F MFk; nryT 		  = 	 5

		  2000 rJu kPl;lUf;F MFk; nryT 		  = 	 5 × 2000

				    = 	 10000

7.	 ntspr; nrt;tfj;jpd; gug;gsT 360 r.kP> cs; nrt;tfj;jpd; gug;gsT 280 

r.kP. rPuhd ghij ,t;tpU nrt;tfq;fSf;Fk; ,ilapy; cs;sJ. ghijapd; 

gug;gsT vd;d?

	 ghijapd; gug;gsT 	 = 	(ntspr; nrt;tfj;jpd; gug;gsT) –  (cs; nrt;tfj;jpd; gug;gsT)

			   =	 360 - 280

			   = 	80

   ∴ghijapd; gug;gsT = 80kP2

8.	 xU nrt;tf tbtf; fl;blj;jpd; ePsk; 20kP> mfyk; 10kP. fl;blj;ijr; Rw;wp 

ntspg;Gwkhf 1kP mfyKs;s ghij mikf;fg;gl;Ls;sJ. ghijapd; gug;gsT 

fhz;f.

	 cs; nrt;tfk;

		  l 	 = 	 20 kP                                   
w

w w

w

b

l

		  b 	 = 	 10 kP

	 gug;gsT 	 = 	 l × b
			   =	 20 × 10 = 200kP

	 ntspr; nrt;tfk;

	 mfyk;	W 	 = 	 1 kP

		  L 	 = 	 l+ 2w
			   = 	 20 + 2 = 22kP

		  B 	 = 	 b + 2w
		   	 = 	 10 + 3 = 12kP
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	 gug;gsT 	 = 	 (l + 2w) (b + 2w)
			   =	 22 × 12 = 264kP2

ghijapd; gug;gsT = (ntspr;nrt;tfj;jpd; gug;gsT) - (cs; nrt;tfj;jpd; gug;gsT)

         		  = 	 264 – 200
         		  = 	 64kP2

9.	 xU gs;spapy; cs;s fiyf; $lj;jpd; ePsk; 45kP> mfyk; 27kP. fiyf;$lj;ijr; 

Rw;wp ntspg;Gwkhf 3kP mfyKs;s jho;thuk; cs;sJ. jho;thuj;jpd; gug;gsT 

vd;d? mj;jho;thuj;jpy; XL gjpf;f 1 r.kPl;lUf;F & 100 tPjk; MFk; nryT 

fhz;f.

	 cs; nrt;tfk;	 	 	 	 ntspr; nrt;tfk;

	 mfyk;	W 	 = 	3 kP

	 L  =  l+ 2w	 =	 45 + 6 = 51kP

	 B  =  b+ 2w	 = 	27 + 6 = 33kP

	 gug;gsT 	 = 	51 + 33
		   	 = 	1683kP2

		  l 	 = 	45 kP                                  

		  b 	 = 	27 kP

	 gug;gsT 	 = 	45 × 27
			   =	 1215kP2

i)		jho;thuj;jpd; gug;gsT = (ntspr;nrt;tfj;jpd; gug;gsT) - ( cs;nrt;tfj;jpd; gug;gsT)

			   = 	 (1683) − (1215)
			   =	 468kP2

ii)	1 r. kPl;lUf;F XLgjpf;f MFk; nryT  	 =	  100

		 468 r. kPl;lUf;F XLgjpf;f MFk; nryT 	 =	 100 × 468

				    =	 46,800

10.	 8kP ePsKk;> 5kP mfyKk; nfhz;l xU miwapy; cl;Gwkhf rPuhd rptg;G 

tz;zg; ghij 0.5kP mfyj;jpy; G+rg;gLfpwJ. rptg;G tz;zg;ghijapd; 

gug;gsT fhz;f.	 	  	              w

w w

w

b

l

	 ntspr; nrt;tfk;

		  l 	 = 	 8 kP                                   

		  b 	 = 	 5 kP

	 gug;gsT 	 = 	 8 × 5
			   =	 40kP2



�

A]\

	 ntspr; nrt;tfk;

	 mfyk;	W 	 = 	 0.5 kP

		  L 	 = 	 l − 2w = (8 − 1) = 7kP

		  B 	 = 	 b − 2w = (5 − 1) = 4kP

	 gug;gsT 	 = 	 7 × 4 = 28kP2

ghijapd; gug;gsT = (ntspr;nrt;tfj;jpd; gug;gsT) - (cs; nrt;tfj;jpd; gug;gsT)

         		  = 	 40 – 28
         		  = 	 12kP2

11.	 xU jiu tphpg;gpd; msTfs; 3kP  ×  2kP. jiu tphpg;gpd; midj;J gf;fq;fspypUe;Jk; 

0.25kP mfyk; nfhz;l rPuhd gl;il xd;W ntl;bnaLf;fg;gLfpwJ. kPjKs;s 

jiutphpg;gpd; gug;gsT fhz;f. NkYk;> ntl;bnaLf;fg;gl;l gl;ilapd; 

gug;gsT vd;d?

	 ntspr; nrt;tfk;	 	 	 	  	 cs; nrt;tfk;

	 (jiutphpg;gpypUe;J rPuhd gl;il                    (jiu tphpg;gpypUe;J rPuhd gl;il 

	 ntl;bnaLg;gjw;F Kd;G		      ntl;bnaLj;j gpwF)

		  l 	 = 	 3 kP	     mfyk; w	 = 	 3 kP

	 L 	 = 	 l − 2w 	 = 	3 − 0.5 	 = 	 2.5kP

	 B 	 = 	 b − 2w 	 = 	(2 − 0.5) = 	 1.5kP

gug;gsT 	 = 	 2.5 × 1.5 =	 3.75kP2

		  b 	 = 	 2kP

	 gug;gsT 	 = 	 3 × 2 = 6kP2

ntl;bnaLf;fg;gl;l rPuhd gilapd; gug;gsT 	= 	 6 − 3.75
					     = 	 2.25kP2

tl;lk;

1.	 tl;lj;jpd; Rw;wsT 	 = 2�r myFfs;

2.	 tl;lj;jpd; gug;gsT	 =  �r2 r. myFfs; 

Rw;wsT:
1.	 3.5 kP Mukhff; nfhz;l tl;lj;jpd; Rw;wsitf; fhz;f.

	 tl;lj;jpd; Rw;wsT	 = 	 2�r

			   =	 222 3.5
7

× ×

			   =	 2 × 22 × 0.5
			   =	 22kP
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2.	 88 nr.kP ePsKs;s xU fk;gp xU tl;lkhf tisf;fg;gLfpwJ. tl;lj;jpd; Muk; 

fhz;f.

	 fk;gpapd; ePsk;		  =	 88 nr.kP

	 tl;lj;jpd; Rw;wsT	 =	 fk;gpapd; ePsk;

		  2�r	 =	 88

		
222
7

r× × 	 =	 88

		  r	 =	 88 7
2 22
×
×

		  r	 =	 14 nr.kP

3.	 xU kpjptz;br; rf;fuj;jpd; tpl;lk; 63 nr.kP mJ 20 Rw;Wfs; Rw;wpdhy; 

flf;Fk; njhiyitf; fhz;f.

	 rf;fuk; xU KOr; Rw;W Rw;wpdhy;>

	 xU KOr; Rw;wpy; flf;Fk; njhiyT = rf;fuj;jpd; Rw;wsT

	 ∴ rf;fuj;jpd; Rw;wsT 	 = 	 �d myFfs;

			   =	 22 63
7
×

			   =	 198 nr.kP

xU KOr; Rw;W Rw;wpdhy; flf;Fk; njhiyT   	 = 	198 nr.kP

∴  20 KOr; Rw;W Rw;wpdhy; flf;Fk; njhiyT	 = 	20 × 198

					     = 	3960 nr.kP

gug;gsT:
1.	 14 nr.kP tpl;lkhff; nfhz;l tl;lj;jpd; gug;gsT fhz;f.

	 tpl;lk; d		  = 	 14 nr.kP

	 Muk; 
14

2 2
dr = = 		 = 	 7 nr.kP

	 tl;lj;jpd; gug;gsT 	 = 	 πr2

			   = 	 22 7 7
7
× ×

			   = 	 154 r.nr.kP
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2.	 taypy; mbf;fg;gl;Ls;s fl;ilapy; 3.5 kP ePsk; nfhz;l Jz;L fapW nfhz;L 

ML fl;lg;gl;Ls;sJ. ML Nkaf;$ba mjpfgl;r gFjpapd; gug;gsit 

fhz;f.

	 tl;lj;jpd; Muk;  		 = 	 Jk;G fapwpd; ePsk;

	  ∴ Muk; r		  = 	 3.5kP  = 7
2  

kP

	 MLNkaf; $ba mjpfgl;r gFjpapd; gug;gsT = πr2 r. myFfs;

							       = 
22 7 7
7 2 2
× ×

							       = 38.5 r. myFfs;

3.	 nts;spf;fk;gp tisf;fg;gl;L rJukhf khw;Wk; NghJ> mjdhy;> milagLk; 

gFjpapd; gug;gsT12 r.nrkP. mNj nts;spf;fk;gp tl;lkhf tisf;fg;gLfpwJ 

vdpy; tl;lj;jpd; gug;gsT vd;d?

	 rJuj;jpd; gf;fk; a vd;f.

	 rJuj;jpd; gug;gsT	 = 	 121 r.nr.kP

		  a2	 = 	 121 ⇒  a = 11 nr.kP

	 rJuj;jpd; Rw;wsT  	 = 	 4a myFfs;

			   = 	 4 × 11 = 44 nr.kP

	 fk;gpapd; ePsk; 		  = 	 rJuj;jpd; Rw;wsT

		     	 = 	 44 nr.kP.

fk;gpahdJ tl;lkhf tisf;fg;gLfpwJ

tl;lj;jpd; Rw;wsT 	 = 	 fk;gpad; ePsk;

		  2πr  	=  	 44

	        	 222
7

r× × 	 = 	 44

		   r 	 = 	 7 nr.kP

‡ tl;lj;jpd; gug;gsT	 = 	 πr2

			   =	
22 7 7
7
× ×

			   = 	 154 nr.kP2
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4.	 ntsptl;lj;jpd; Muk; 14.nrkP cs; tl;lj;jpd; Muk; 7 nr.kP vdpy;

i.	 ntsptl;lj;jpd; gug;gsT

ii.	 cs;tl;lj;jpd; gug;gsT

iii.	 ,U tl;lq;fSf;F ,ilapy; cs;s epoypl;l gFjpapd; gug;gsT

i.	 ntsptl;lk;	 	 	 	 ii.	 cs;tl;lk;

		  R 	 = 	 14	 r 		  = 	 7
	 gug;gsT 	 =	 πR2	 gug;gsT 		= 	 πr2

		  	 =	
22 14 14
7
× × 	  		  =	 22 7 7

7
× ×

			   = 	 616 nr.kP2			  = 	 154 nr.kP2

ii.	 epoypl;l gFjpapd; gug;gsT 	 = 	 ntsp tl;lj;jpd; 	 − 		 cs; tl;lj;jpy;

			   gug;gsT 		  gug;gsT

		  = 	 616 – 154 = 462 nr.kP2

5.	 50kP Mukhff; nfhz;l tl;l tbt G+q;fhtpd; ntspg;Gwj;jpy; 2 kP mfyj;jpy; 

rkr;rPuhd tl;lg;ghij mikf;fg;gLfpwJ. mg;ghijia rkd;nra;a xU rJu 

kPl;lUf;F &5 tPjk; MFk; nryitf; fhz;f.

	

2

2

50

	 r = 50kP> w = 2kP, R = r + w = 50 + 2 = 52kP

	 tl;lg;ghijapd; gug;gsT 	 =	 π (R + r) (R – r)
			   =	 3.14 × (52 + 50) (52 – 50)
			   =	 3.14 × 102 × 2
			   =	 640.56 kP2

	 1 rJu kP ghijiar; rkd;gLj;j MFk; nryT 	 = 	 5

	 640.56 rJu.kP ghijiar; rkd;gLj;jk; MFk; nryT	 = 	 5 × 640.56

						      = 	 3202.80
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6.	 miu tl;l tbtpyhd G+q;fh xd;wpd; vy;iy Ntypahf gad;gLj;jg;gl;Ls;s 

rq;fpypapd; ePsk; 36kP vdpy; G+q;fhtpd; gug;gsitf; fhz;f.

	

miutl;lj;jpd; Rw;wsT 	 = 	 (π + 2) rmyFfs;

miutl;lj;jpd; gug;gsT	 =   	
2

2
rπ  r. myFfs; 

	 rq;fpypapd; ePsk;  	 = 	 miu tl;lj;jpd; Rw;wsT	

			   ∴ (π + 2) r  	 = 	 36

	          22 2
7

r + × 
 

	 =	 36

			   22 14
7

r+ × 
 

	 =	 36

			   r	 =	 7kP

	 G+q;fhtpd; gug;gsT		 =	 miutl;lj;jpd; gug;gsT

				    =	
2

2
rπ

				    =	
22 7 7
7 2

×
× 	 = kP2

7.	 nfhLf;fg;gl;Ls;s glj;jpy; rJuk; ABCD-d; gf;f msT 14 nr.kP 

A B

D C

epoypl;lg; gFjpapd; gug;gsitf; fhz;f.

	 rJuj;jpd; gf;fk;   			   a 	 = 	 14 nr.kP

	 xt;nthU tl;lj;jpd; Muk;  r 	 =	 7
2

nr.kP

	 epoypl;l gFjpapd; gug;gsT 		 =	 rJuj;jpd; gug;gsT – (4 × tl;lj;jpd; gug;gsT)

			   			   = 	 a2 – 4(πr2)

						      = 	 (14)2  –  4  22 7 7
7 2 2

 × ×  
	

						      = 	 196 – 154

						      = 	 42 nr.kP2.
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7.	 8.	gf;f msT 28 nr.kP msTs;s xU rJuj;jpd; ehd;F %iyapypUe;J 

xt;nthU tl;lKk; kw;w ,uz;L tl;lq;fisj; njhLkhW ehd;F tl;lq;fs; 

glj;jpy; cs;sgb tiuag;gLfpd;wd. vdpy; epoypl;l gFjpapd; gug;gsitf; 

fhz;f.

	 ABCD vd;w rJuj;jpd; gf;fk; a vd;f.				  

A B

D C14 cm 14 cm

					     ∴  a 	 = 	 28 nr.kP

	 ∴  xt;nthU tl;lj;jpd; Muk;> r  	 =	
28
2

    				    = 	 14 nr.kP

        epoypl;l gFjpapd; gug;gsT  	 = 	 rJuj;jpd; gug;gsT − 4 × fhy;tl;lg;gFjp

					     =	 2 214
4

a rπ − × 
 

					   
=	 ( )2 1 2228 4 14 14

4 7
 − × × ×  

					   
=	 784 – 616 

					     =	 168 nr.kP2.
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fdr;rJuk;

									       

a

a
a

fdr;rJuj;jpd; nkhj;jg;gug;gsT    	 = 	6a2 r. m

fdr;rJuj;;jpd; gf;fg;gug;G 	   		  =	 4a2 r.m

fdr;rJuj;jpd; fd msT 	 v  		  =  a3 fs. myFfs; 

1.	 5 nr.kP gf;f msT nfhz;l fdr;rJuj;jpd; nkhj;jg;gug;G> gf;fg;gug;G> kw;Wk; 

fdmsT Mfpatw;iwf; fhz;f.

	 gf;fg;gug;G          	 = 	 4a2 	 = 4 (5)2	 =  	 100 	 r.nr.kP

	 nkhj;jg; Gwg;gug;G 	 = 	 6a2 	 = 6 (5)2  	 =  	 150   r.nr.kP

	 fdmsT	 =    a3 	 = 53          	 =	 125  	f.nr.kP

2.	 xU fdr;rJuj;jpd; nkhj;jg; Gwg;gug;G 384 r. nrkP vdpy;>  mjd; fdmsitf; 

fhz;f

	 fdr;rJuj;jpd; gf;f msT  a  vd;f

	 nkhj;jg; Gwg;gug;G  	 = 	 384 r. nrkP

		                   6a2	 =	 384

		                     a2	 =	 384 64
6

=

		                             
a	 =	 64  = 8 nrkP

	 fd msT  a3  =  83  =  512 f. nrkP

fdr;nrt;tfk;

							                                     

Length Widt
h

H
ei

gh
t

fdr;nrt;tfj;jpd; gf;fg; gug;G   	 = 	 2 ( l + b) h r. m

fdr;nrt;tfj;jpd; nkhj;jg; gug;G  	 = 	 2( l b + bh + lh) r.m

fdr;nrt;tfj;jpd; fd msT 	 v	 = 	 l × b × h f. myFfs; 
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1.	 xU fdr;nrt;tfj;jpd; ePsk;> mfyk; kw;Wk;  cauk; KiwNa 20 nr.kP> 12nr.kP 

kw;Wk; 9 nr.kP mjd; nkhj;jg; Gwg;gug;igf; fhz;f.

	 l = 20 nr.kP> b = 12 nr.kP> h = 9 nr.kP

	 ∴ nkhj;jg; Gwg;gug;G	 =	 2(l b × bh × lh)
			   = 	 2 [(20 × 12) + (12 × 9) + (20 × 9)]
			   = 	 2 × 528
			   = 	 1056 r. nr.kP 

2.	 fdmsT 216 f. nr.kP msTs;s ,U fdr;rJuq;fs; glj;jpy; fhl;bAs;sthW 

,izf;fg;gLk; NghJ fpilf;Fk; fdnrt;tfj;jpd; nkhj;jg; gug;igf; 

fhz;f.

                            

	 fdr;rJuj;jpd; gf;f msT a vd;f

			   a3 	 = 	 216

			   a 	 = 3 216   = 6 nrkP 

     ,U fdr;rJuq;fs; ,izf;fg;gl;L fdr;nrt;tfk; ngwg;gLfpwJ.

     vdNt> l = 6 + 6 = 12 nr.kP

     		 b = 6 nr.kP 

      	 h = 6 nr.kP

	 fdr;nrt;tfj;jpd; nkhj;jg;gug;G	 = 	 2 (lb  ×  bh  × lh)
 						      = 	 2 [ (12×6) + (6×6) + (12×6) ]
 						      = 	 2 [ 72 + 36 + 72 ]
 						      =	 2 × 180
 						      = 	 360 r. nr.kP 
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Neh; cUis

a.	 mbg;gug;G 		  =  	 �r2 r.m				        A

BD

C

b.	 tisgug;G 		  = 	 2�rh r. m				     	             

c.	 nkhj;jg; Gwg;gug;G  	 = 	 2�r (h+r) r. m

d.	 fd msT 		  = 	 �r2h f.m

cs;sPlw;w cUis

a)	 mbgf;fg; gug;G  		  =	 �(R2 – r2) r.m			    

 			   =	 � (R+r) (R–r) r.m

b)	 tisgug;G 		  =	 2�h(R+r) r.m

c)	 nkhj;j Gwg;gug;G   		 =	 2�r (R+r)(R-r+h)

d)	 fd msT 		  =	 �h (R2 –  r2)				 

			   =	 �h(R+r) (R–r) f.m 

jpz;k  Neh;tl;l cUisapd; nkhj;jg; gug;G  = 2�r (h+r) r. m

$k;G

	 mbgf;fg; gug;G  		  = 	 � r2 r.m				  

a.	 tisgug;G 		  = 	 �r l r.m

b.	 nkhj;j Gwg;gug;G  		 = 	 �r (l+r) r.m 
2 2 2

2 2

1

1

r h

r h

 = + 
 

= +  
   

c.	 fd msT 
	  	 =  	 1

3
(�r2h) f.m 

Nfhsk;

	 tisgug;G 		  = 	 4�r2 r.m

a.	 fd msT		  = 	 34
3

rπ
 
f.m  

miuf;Nfhsk;

a.	 tisgug;G 		  =	 2�r2 r.m

b.	 fd msT		  =	  32
3

rπ
  
f.m  

c.	 miuf;Nfhsj;jpd; nkhj;jg;gug;G =  3�r2 r.m
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cUis

1.	 xU jpz;k Neh;tl;l cUisapd; Muk; 7 nr.kP kw;Wk; cauk; 20 nr.kP mjd; i) 
tisgug;G > ii) nkhj;jg; Gwg;gug;G Mfpatw;iwf; fhz;f.

	 r  = 7 nr.kP     h  = 20 nr.kP

	 (i)	 cUisapd; tisgug;G		  = 	 2�rh r.m

							       = 	 222 7 20
7

× × ×  
 							       = 	 880  r.nr.kP

	 (ii)	 nkhj;jg; Gwg;gug;G			   = 	 2�r (h + r) 

							     
= 	 [ ]222 7 20 7

7
× × × +

							       =	 44 × 27

							       =	 1188 r. nrkP

2.	 xU jpz;k Neh;tl;l cUisapd; MuKk; cauKk; 2 : 5 vd;w tpfpjj;jpy; 

cs;sd. mjd; tisg;gug;G 
3960

7  
r. nrkP vdpy; cUisapd; Muk; kw;Wk; 

cauk; fhz;f.

	 r : h = 2 : 5

		  2
5

r
h
=

	

2
5

r h=

	
Neh; tl;l cUisapd; tisgug;G  	=	  2�rh r.m 

				     
3960

7
	 =	 22 22

7 5
h h× × × ×

				    h2 	 =	 3960 7 5 225
2 22 2 7

× ×
=

× × ×

				    h 	 =	 15

	

2 2 15 6
5 5

r h= = × =
		

: 2 : 5
6 :15

r h = 
 = 

	 r = 6 nr.kP h = 15 nr.kP
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3.	 120 nr.kP   ePsKk;> 84 nr.kP tpl;lKk; nfhz;l xU rhiyia rkg;gLj;Jk; 

cUisiaf; nfhz;L xU   tpisahl;Lj;jply;   rkg;gLj;jg;gLfpwJ. 

tpisahl;Lj; jpliy rkg;gLj;j ,t;TUis 500 KOr; Rw;Wfs; Roy Ntz;Lk;. 

tpisahl;Lj; jpliy rkg;gLj;j xU r. kPl;lUf;F 75 igrh tPjk;> jpliyr; 

rkg;gLj;j MFk; nryitf; fhz;f.

	 r = 42 nr.kP   h =120 nr.kP

	 cUisapd; xU KOr;Rw;wpdhy; 	

	 rkg;gLj;jg;gLk; jplypd; gug;G  	 =	 cUisapd; tisgug;G			

				    =	 2�rh r.m

						      =	 222 42 120
7

× × ×

						    
=	 31680 r.nr.kP

	 500 KOr; Rw;Wfspy; rkg;gLj;jg;gLk; 

	 jplypd; gug;G				    =	 31680 × 500
						      = 	 15840000 nr.kP2 

						      = 	 15840000
10000

 						      = 	 1584 kP2 (10000nr.kP2 = 1r.kP)	

	 1 r.kPl;lUf;F rkg;gLj;j MFk; nryT  	 = 	 75.
100

Rs

	 vdNt tpisahl;Lj;jpliy rkg;gLj;j MFk; nkhj;jr; nryT   =  1584 75
100
×

        								            =  Rs. 1188

cUisapd; fdmsT

4.	 xU Neh; tl;l cUisapd; tisgug;G 704 r.nrkP kw;Wk; mjd; cauk; 8 nr.kP 

vdpy; mt;TUisapd; fd msit ypl;lhpy; fhz;f.

	 h = 8 nr.kP >  tisgug;G = 704 r.nr.kP

	 tisgug;G 	 = 	 704 r.nr.kP

                2�rh 	 = 	 704 

			   = 	 222 8 704
7

r× × × =
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		                     r	 = 	 704 7
2 22 8

×
× ×

		                       r 	 = 	 14 nr.kP

cUisapd; fd msT 	 =	 �r2h

					     =	 22 14 14 8
7
× × ×

					     =	 4928 f. nrkP     

cUisapd; fdmsT  	 =	 4.928 ypl;lh;  (1000 f.nr.kP = 1 ypl;lh;)

5.	 xU cs;sPlw;w ,Uk;G Fohapd; ePsk; 28 nr.kP> mjd; ntsp kw;Wk; cs;tpl;lq;fs; 

KiwNa 8 nr.kP kw;Wk; 6 nr.kP vdpy;  ,Uk;Gf; Fohapd; fd msitf; fhz;f. 

NkYk; 1 f. nr.kP ,Uk;gpd; vil 7 fpuhk; vdpy;> ,Uk;Gf; Fohapd; viliaf; 

fhz;f.

	 2r = 6 nr.kP>  2R = 8 nr.kP>   h = 28 nr.kP

  	r = 3 nr.kP>    R = 4 nr.kP

	 ,Uk;G Fohapd; fd msT  = � × h × (R + r) (R – r) 

						      = 22 28 (4 3) (4 3)
7
× × + −  

						      = 616 f. nrkP    

	 1 f. nrkP ,Uk;gpd; vil   	 = 7 fpuhk;

	 616 f. nrkP ,Uk;gpd; Fohapd; vil = 7 × 616 fpuhk;

	 MfNt> ,Uk;Gf; Fohapd; vil       = 4.312 fp.fp  

$k;G

1.	 xU jpz;k Neh; tl;lf; $k;gpd; Muk; kw;Wk; rhAauk; KiwNa 35 nr.kP kw;Wk; 

37 nr.kP  vdpy; $k;gpd; tisgug;G kw;Wk; nkhj;jg; Gwg;gug;igf; fhz;f.

	 r kw;Wk; l vd;gd KiwNa  Neh; tl;lf; $k;gpd; Muk; kw;Wk; rhAauk; vd;f.

	 vdNt r = 35 nr.kP, l = 37 nr.kP  

	           MfNt> tisgug;G 		  = 	 πrl = π (35) (37)
							       = 	 4070 r. nr.kP  
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	 NkYk;> nkhj;jg; Gwg;gug;G 		  = 	 πr [l + r]

							       = 	 [ ]22 35 37 35
7
× +

							     
= 	 7920 r. nr.kP  

2.	 21 nr.kP MuKs;s xU tl;lj;jpypUe;J 1200 ikaf; Nfhzk; nfhz;l xU 

tl;lf; Nfhzg;gFjpia ntl;bnaLj;J, mjd; Muq;fis xd;wpize;J xU 

$k;ghf;fpdhy; fpilf;Fk; $k;gpd; tisgug;igf; 
22
7

π = 
   

fhz;f.  

	 $k;gpd; Muk; r vd;f.

	 tl;l Nfhzg;gFjpapd; Nfhzk;> θ 	 = 	 1200
	 tl;l Nfhzg;gFjpapd; Muk;, 	 R 	 = 	 21 nr.kP.

	 tl;l Nfhzg;gFjpapd; Muq;fis xd;wpize;J mjid xU $k;ghf khw;wyhk;.

	 vdNt> $k;gpd; mbr;Rw;wsT		  = 	 tl;ltpy;ypd; ePsk;

				             2 πr		  =	 2
360

Rθ π×

						    
r		  =	

360
Rθ

×

		           vdNt> $k;gpd; Muk;   r	 =	 120 21 7
360

× =
 
nr.kP

	 NkYk;> $k;gpd; rhAauk; 			   = 	 tl;lf; Nfhzg;gFjpapd; Muk;.

       			    l = R ⇒  l 	 = 	 21 nr.kP

 	 vdNt> $k;gpd; tisgug;G 			  = 	 πrl 

								        = 	 22 7 21 462
7
× × =  r. nr.kP 

l

r

21cm21cm120o

2�r
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$k;gpd; fdmsT

  

  3 × $k;gpd; fdmsT = cUisapd; fdmsT = πr2h

  vdNt> $k;gpd; fdmsT   = 21
3

r hπ×  f.MyFfs;

1.	 xU jpz;k Neh;tl;lf; $k;gpd; fdmsT 4928 f. nrkP kw;Wk; mjd; cauk; 24 

nr.kP vdpy;, mf; $k;gpd; $k;gpd;Muj;ijf; fhz;f.

	 r, h kw;Wk; V vd;gd KiwNa $k;gpd;Muk;, cauk; kw;Wk; fdmsT vd;f.

	 vdNt, V = 4928 f. nrkP kw;Wk; h = 24 nr.kP

	 MfNt>  	 =	 21 4928
3

r hπ× = 	  

		  	 = 21 22 24 4928
3 7

r× × × =

		                r2 	 =	 4928 3 7 196
22 24

× ×
=

×

	  $k;gpd;Muk; r 	 =	 194 14=  nr.kP

2.	 xU ,ilf;fz;l tbtpyhd thspapd; Nkw;Gw kw;Wk; mbg;Gw Muq;fs; KiwNa 

15 nr.kP ; kw;Wk; 8; nr.kP NkYk;, Mok; 63 nr.kP vdpy;, mjd; nfhs;sit 

ypl;lhpy; fhz;f.

	

,ilf; fz;lj;jpd; fdmsT ( )2 21
3

h R r Rrπ= × + +
  

		  R kw;Wk; r vd;gJ KiwNa thspapd; Nkw;Gw kw;Wk; mbg;Gw gFjpapd; Muq;fs; 

vdTk; h vd;gJ mjd; cauk; (Mok;) vdTk; nfhs;f.   

63 nr.kP 

8 nr.kP 

	

MfNt> R = 15 nr.kP> r = 8 nr.kP  kw;Wk; h = 63 nr.kP	

  		 thspapd; fdmsT 	 ( )

( )

2 2

2 2

1
3
1 22 63 15 8 15 8
3 7

h R r Rrπ= × + +

= × × × + + ×

				  

	         

                                

				        =  26994 f.nrkP

                              		 = 
26994
1000

 ypl;lh; (1000 f.nrkP = 1 ypl;lh;)

 vdNt>  thspapd; fdmsT = 26.994 ypl;lh; .



20

A]\

Nfs;tpfs;

1.	 xU jpz;k Neh;tl;l cUisapd; nkhj;jg;Gwg;gug;G 880r. nrkP kw;Wk; mjd; Muk; 10 

nr.kP vdpy; mt;TUisapd; tisgug;igf; fhz;f.

	 Ans :  3251
7   

r. nr.kP

2.	 xU cs;sPlw;w cUisapd; cs; kw;Wk; ntsp Muq;fs;  KiwNa 12 nr.kP kw;Wk; 

18 nr.kP vd;f. NkYk; mjd; cauk; 14 nr.kP vdpy; mt;Tisapd; tisgug;G kw;Wk; 

nkhj;jg; Gwg;gug;igf; fhz;f.

	 Ans :  33771
7  

r. nr.kP

3.	 xU jpz;k Neh;tl;l cUisapd;  mbg;gf;fg; gug;G kw;Wk; fd msT KiwNa 

13.86 nr.kP kw;Wk; 69.3 f. nrkP vdpy;> mt;TUisapd; cauk; kw;Wk; tisgug;igf; 

fhz;f

	 Ans : 66 r.nrkP

Nfhsk;

1.	 7kP cs;tpl;lKs;s xU cs;sPlw;w Nfhsj;jpDs; cl;Gwkhf xU rh;f;f]; tPuh; 

Nkhl;lhh; irf;fpspy; rhfrk; nra;fpwhh;. me;j rhfr tPuh; rhfrk; nra;af; 

fpilj;jpLk;  cs;sPlw;wf; Nfhsj;jpd; cl;Gwg;gug;igf; fhz;f.

	 cs;sPlw;w  Nfhsj;jpd; cl;Gw tpl;lk; 2r = 7 kP

	 Nkhl;lhh;  irf;fps; tPuh;> rhfrk; nra;af; fpilj;jpLk; gug;G

			  =	 Nfhsj;jpd; cl;Gw  tisgug;G

			  =	 2 24 (2 )r rπ π=

			  =	 222 7
7
×

			  =	 154	r. nr.kP.

2.	 xU jpz;k miuf;Nfhsj;jpd; nkhj;j Gwg;gug;G 675 πr.nr.kP vdpy; mjd; 

tisgug;igf; fhz;f.   

	 jpz;k miuf;Nfhsj;jpd; nkhj;j Gwg;gug;G

		                                  3π r2 	 = 	 675 π r. nr.kP					   

jpz;k miuf;Nfhsj;jpd; tisgug;G 	 = 	 2π × 225
					    =	  450 π r. nr.kP.
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3.	 miuf;Nfhs tbt fpz;zj;jpd; jbkd; 0. 25 nr.kP. mjd; cl;Gw Muk; 5 nr.kP 

vdpy; mf; fpz;zj;jpd; ntspg;Gw tisgug;igf; fhz;f.

	 r, R kw;Wk; W vd;gd KiwNa miuf;Nfhs tbt fpz;zj;jpd; cs; Muk;, ntsp 

Muk; kw;Wk; jbkd; vz;f.

      	 r = 5 nr.kP, w = 0. 25 nr.kP

      ∴ ntsp Muk;  R = r + w = 5 + 0.25 = 5.25 nr.kP 

               ntspg;Gw tisgug;G	 =	 2πR2	

		  =	 222 5.25 5.25
7

× × ×

                                            	 = 	 173. 25 r. nr.kP.

fdmsT

1.	 8.4 nr.kP  tpl;lk; nfhz;l xU Nfhstbt jpz;k cNyhf vwpFz;bd; fd 

msitf; fhz;f.

	 r vd;gJ  jpz;k Nfhstbt cNyhf vwp Mz;bd; Muk; vd;f.

	 MfNt> 2r = 8.4 nr.kP  ⇒ r = 4.2 nr.kP  

	 cNyhf vwpFz;bd; fd msT v 	 =	 34
3

rπ
		         

8.4nrkP

			 
=	 4 22 42 42 42

3 7 10 10 10
× × × ×

			 
=	 310. 464 f. nr.kP

2.	 xU $k;G> xU miuf;Nfhsk;>  kw;Wk; xU cUis Mfpad rk mbg;gug;gpidf; 

nfhz;Ls;sd. $k;gpd; cauk;> cUisapd; cauj;jpw;F rkkhfTk;> 

NkYk; ,t;Tauk; mtw;wpd; Muj;jpw;F rkkhfTk; ,Ue;jhy; ,k;%d;wpd; 

fdmsTfSf;fpilNa cs;s tpfpjj;ijf; fhz;f.

	 r vd;gJ $k;G> miuf;Nfhsk;  kw;Wk; cUisapd;  nghJthd Muk; vd;f

r

r
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	 h vd;gJ $k;G kw;Wk; cUisapd; cauk; vd;f.

	 vdNt, r = h MFk;

	 V1 , V2 kw;Wk; V3 vd;gd KiwNa $k;G, miuf;Nfhsk;  kw;Wk; cUisapd; 

fdmsTfis Fwpf;fl;Lk;.

	 ,g;NghJ  [ ]

2 2 2
1 2 3

2 3 2

1 2 3

1 2V : V : V : :
3 3
1 2: :
3 3
1 2V : V : V : :1
3 3

r h r r h

r r r r h

π π π

π π π

=

= =

=

     

		  [ ]

1 2 3

2 3 2

1 2 3

1 2V : V : V : :1
3 3

1 2: :
3 3
1 2V : V : V : :1
3 3

r r r r hπ π π

=

= =

=
                                                  

           

	 MfNt> fdmsTfspd; tpfpjk; 1 : 2 : 3.

3.	 xU jpz;kf; Nfhsj;jpd; fd msT 
17241
7  

f. nr.kP vdpy;> mjd; Muj;ijf; 

fhz;f.

	 r kw;Wk; v vd;gd KiwNa Nfhsj;jpd; Muk; kw;Wk; fd msT vd;f.

	 	 V 	 =	 17241
7  

f. nr.kP

		  34
3

rπ
	

=	 50688
7

	          
34 22

3 7
r× ×

	
= 	 50688

7
	

		  r3	 =	 1728 = 43 × 33

		  r	 =	 12 nr.kP
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4.	 xU cs;sPlw;w Nfhsj;jpd; fd msT 
11352

7   
f. nr.kP. kw;Wk; mjd; ntsp Muk; 

8 nr.kP vdpy; , mf;Nfhsj;jpd; cs;Muj;ijf; fhz;f.

     	 R kw;Wk; r vd;gd KiwNa cs;sPlw;w Nfhsj;jpd; ntsp kw;Wk; cs;Muq;fs; 

vd;f.

     	 V vd;gJ mf;Nfhsj;jpd; fd msT vd;f.

	 MfNt> fd msT 
11352V

7
=

  
f. nr.kP

		  3 34 ( )
3

R rπ −
	

=	 11352
7

		
3 34 22 (8 )

3 7
r× × −

	
=	 11352

7

	 	                  
512 − r3	 =	 387	

		                             r3	 =	 125

		                             r	 =	 5 nr.kP

•••


